
CALL WASHINGTON ONE CALL
(800) 424-5555

CALL 3 WORKING DAYS
BEFORE YOU DIG!

TITLE SHEET &
PROJECT

INFORMATION

T-1

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

APPLICABLE CODES/REFERENCE DOCUMENTS

SITE INFORMATION DRAWING INDEX

PROJECT DESCRIPTION

PROJECT TEAM

LOCATION MAP

·

·

·

·

·

·

·

·
·

·

·

·

·
·

·

02/25/2022



GENERAL NOTES

T-2

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

02/25/2022



OVERALL SITE PLAN

C-1.1

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

S

W

N

EMP
A&

SE 39TH STREET

84
TH

 A
VE

NU
E 

SE

ISLAND CREST W
AY

02/25/2022



EXISTING & FINAL
EQUIPMENT PLANS

C-1.2

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

S

W

N

E

MP
A&

02/25/2022



EXISTING & FINAL
ELEVATIONS

C-2

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

02/25/2022



EXISTING & FINAL
ANTENNA PLANS

C-3

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

02/25/2022



FINAL ANTENNA &
CABLE SCHEDULE

C-4

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

02/25/2022



ELECTRICAL WIRING
DIAGRAM

C-5

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

NOTES:

1. REFER TO CHART FOR CABLE QUANTITIES, SIZES,
AND LENGTHS.

TOWER MOUNTED RRH SCENARIO - NOT SITE SPECIFIC

02/25/2022



EQUIPMENT
DETAILS

C-6

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

” 

02/25/2022



EQUIPMENT
DETAILS

C-7

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

02/25/2022



EQUIPMENT
DETAILS

C-8

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

” 

02/25/2022



GROUNDING
SCHEMATIC

G-1

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

02/25/2022



GROUNDING
DETAILS

G-2

DESIGNED: MSW

DRAWN: MSW

CHECKED: PWM

REV DATE DESCRIPTION

A 12/17/21 PRELIMS

P. MARSHALL & ASSOCIATES

1505 WESTLAKE AVENUE NORTH, SUITE 800
SEATTLE, WA 98109

0 2/25/22 FOR CONSTRUCTION

02/25/2022









0 11-12-21 MODIFICATION DRAWINGS

NAM RWT

TITLE SHEET

November 12, 2021

CROWN CASTLE

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

T-1 0
233674.620977

NO. SHEET TITLE

INDEX OF SHEETS
REV

PROJECT TEAM

CCI MODIFICATION PROJECT MANAGER:

ENGINEERING FIRM PROJECT MANAGER:

PROJECT INFORMATION

SAFETY CLIMB: 'LOOK UP'

MODIFICATION PROVISIONS

MOUNT DESIGN DRAWINGS

SOUTHEAST 39TH STREET AND 84TH AVENUE SOUTHEAST
MERCER ISLAND, WA 98040

(KING COUNTY)
N47°34'32.18", W122°13'36.26"

CLISE PARK-PSE
SITE NAME:

CROWN CASTLE BU NUMBER:

856382
SITE ADDRESS:



WELDING NOTES:

STRUCTURAL STEEL NOTES:GENERAL NOTES:

ATTENTION

CLISE PARK-PSE
BU #: 856382

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

CROWN CASTLE

0 11-12-21 MODIFICATION DRAWINGS

November 12, 2021

0
233674.620977

NAM RWT

N-1

PROJECT NOTES I



LEG

WORKABLE GAGES

221
2 13

4331
24

NOMINAL HOLE
DIMENSIONS

SHORT
SLOT

STANDARD
HOLE

BOLT
DIAMETER

ALLOWABLE ANGLE COPE

BOLT THREADS
BOLT

DIAMETER
THREAD
LENGTH

BOLT DETAILS

SINGLE SHEAR CONNECTIONS: DOUBLE SHEAR CONNECTIONS:

BOLT EDGE AND SPACING

SPACINGMIN. EDGEBOLT
DIAMETER

NOTE:

SECTION AT CENTER AND
STITCH CONNECTION

BOLT LENGTHS OVER FOUR DIA. BUT NOT EXCEEDING EIGHT DIA.

BOLT LENGTHS UP TO AND INCLUDING FOUR DIA.

8.2.1 TURN-OF-THE-NUT TIGHTENING

BOLT TIGHTENING PROCEDURE:

N-2

PROJECT NOTES II

CLISE PARK-PSE
BU #: 856382

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

CROWN CASTLE

0 11-12-21 MODIFICATION DRAWINGS

November 12, 2021

0
233674.620977

NAM RWT



CLISE PARK-PSE
BU #: 856382

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

CROWN CASTLE

0 11-12-21 MODIFICATION DRAWINGS

November 12, 2021

0
233674.620977

NAM RWT

S-1

ELEVATION DETAILS

ELEVATION



NOTES:

PROPOSED PLAN VIEW - 96FT LEVEL: SECTION S-2

PROPOSED MOUNT
DETAILS I

CLISE PARK-PSE
BU #: 856382

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

CROWN CASTLE

0 11-12-21 MODIFICATION DRAWINGS

November 12, 2021

0
233674.620977

NAM RWT

CLISE PARK-PSE
BU #: 856382

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

CROWN CASTLE

0 11-12-21 MODIFICATION DRAWINGS

November 12, 2021

0
233674.620977

NAM RWT



NOTES:

S-3

PROPOSED MOUNT
DETAILS II

CLISE PARK-PSE
BU #: 856382

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

CROWN CASTLE

0 11-12-21 MODIFICATION DRAWINGS

November 12, 2021

0
233674.620977

NAM RWT

CLISE PARK-PSE
BU #: 856382

TOWER ENGINEERING PROFESSIONALS
326 TRYON ROAD

RALEIGH, NC  27603
OFFICE: (919) 661-6351

www.tepgroup.net

CROWN CASTLE

0 11-12-21 MODIFICATION DRAWINGS

November 12, 2021

0
233674.620977

NAM RWT

PROPOSED PLAN VIEW - 106FT LEVEL: SECTION

BACKER PLATE DETAIL



PARTS LIST

NET WT.UNIT WT.LENGTHPART DESCRIPTIONPART NO.QTYITEM

67.9367.93 SUPPORT ARM WELDMENT - 36"X-SV197-3611

22.0822.08 LARGE SUPPORT CROSS PLATEX-SP21612

40.2540.2560 in3-1/2" X 60" (3" SCH 40) GALVANIZED PIPEP36013

1.420.362 3/4 in5/8'' x 2-3/4" HDG A325 HEX BOLTA5823444

0.140.03 5/8" HDG A325 FLATWASHERA58FW45

0.210.03 5/8" HDG LOCKWASHERG58LW86

0.520.13 5/8'' HDG A325 HEX NUTA58NUT47

3.071.54 5/8" X 4-5/8" X 7" X 3" U-BOLT (HDG.)X-UB545828

0.280.071/8 in5/8" HDG USS FLATWASHERG58FW49

0.520.13 5/8'' HDG HEAVY 2H HEX NUTG58NUT410

3.090.77 1/2" X 3-5/8" X 5-1/2" X 3" U-BOLT (HDG.)X-UB1358411

0.270.033/32 in1/2" HDG USS FLATWASHERG12FW812

0.110.011/8 in1/2" HDG LOCKWASHERG12LW813

0.570.07 1/2'' HDG HEAVY 2H HEX NUTG12NUT814

DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CSL

1  O
F

  1
 

3RD PARTY

BMC 6/14/2018

4/5/2018 RMV5-NP-S

MONOPOLE SINGLE T-ARM
WITHOUT ANTENNA MOUNTING PIPES

AND HARDWARE  (5' FACE)

SP1

CUSTOMER RMV5-NP-S
CLASS SUB

PART NO.

87 02

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030") - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010") - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

4

5

6

7

123

8

6

9

10

11

12

13

14

TOTAL WT. # 140.46



DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

KC8

1
  O

F
  1

 BMC 2/2/2016

8/8/2012 SEE ASSEMBLY "A"

PIPE MOUNT KITS

CUSTOMER SP219-xxx
CLASS SUB

PART NO.

81 01

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

PARTS LIST

NET WT.UNIT WT.LENGTHPART DESCRIPTIONPART NO.QTYITEM

8.618.618.250 inSMALL SUPPORT CROSS PLATEX-SP21911

0.510.26 1/2" X 3-5/8" X 6" X 3" U-BOLT (HDG.)X-UB130622

0.510.26 1/2" X 2-1/2" X 4-1/2" X 2" U-BOLT (HDG.)X-UB121223

0.570.07 1/2'' HDG HEAVY 2H HEX NUTG12NUT84

0.110.01.1251/2" HDG LOCKWASHERG12LW85

0.270.030.0951/2" HDG USS FLATWASHERG12FW86

"E""D""C"2-3/8" O.D. VERTICAL MOUNTING PIPES"B"17

X2
 

X2
 

X2

HOT DIP GALVANIZED.
FINISH:

2-3/8" O.D. VERTICAL MOUNTING PIPES
ASSEMBLY "A" PART NO. "B" PART DESCRIPTION LENGTH "C" UNIT WT. "D" NET WT. "E" TOTAL WEIGHT

SP219-63 P263 2-3/8" DIA X 63" SCH 40 GALVANIZED PIPE 63" 20.18 20.18 32.65
SP219-72 P272 2-3/8" DIA X 63" SCH 40 GALVANIZED PIPE 72" 23.07 23.07 35.54
SP219-84 P284 2-3/8" DIA X 63" SCH 40 GALVANIZED PIPE 84" 26.91 26.91 39.38
SP219-96 P296 2-3/8" DIA X 63" SCH 40 GALVANIZED PIPE 96" 30.76 30.76 43.23

SP219-126 P2126 2-3/8" DIA X 10'-6"" SCH 40 GALVANIZED PIPE 126" 40.37 40.37 52.84

1

7

3

4

5

6

6542

X2 X2 X2

A UPDATED DRAWING, MADE NEW DRAWING FOR SP219-xxxH  CEK 1/25/2016

REVISION HISTORY
REV DESCRIPTION OF REVISIONS CPD BY DATE



PARTS LIST

NET WT.UNIT WT.LENGTHPART DESCRIPTIONPART NO.QTYITEM

45.7445.74 SUPPORT ARM WELDMENT - 18"X-SV197-1811

1.420.36 5/8'' x 2-3/4" HDG A325 HEX BOLTA5823442

0.140.03 5/8" HDG A325 FLATWASHERA58FW43

0.100.03 5/8" HDG LOCKWASHERG58LW44

0.520.13 5/8'' HDG A325 HEX NUTA58NUT45

DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

1
  O

F
  1

 BMC 4/14/2011

4/14/2011 SV197-18

18"
SUPPORT

ARM

4470

CUSTOMER SV197-18
CLASS SUB

PART NO.

81 01

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

1

2 3 4 5

TOTAL WT. # 47.92

4-1/2" O.D.



SECTION A-A
 

A A

PARTS LIST

NET WT.UNIT WT.LENGTHPART DESCRIPTIONPART NO.QTYITEM

6.790.85 SMALL PIPE TO PIPE BRACKETX-UPC181

12.913.2320 in1/2" x 20" THREADED ROD (HDG.)G12R-2042

1.140.07 1/2'' HDG HEAVY 2H HEX NUTG12NUT163

0.220.01 1/2" HDG LOCKWASHERG12LW164

0.540.03 1/2" HDG USS FLATWASHERG12FW165

DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

1
  O

F
  1

 CEK 2/18/2013

3/13/2009 UPC1

UNIVERSAL PIPE-TO-PIPE
CLAMP SET

FOR SMALL PIPES (1-1/4" TO 4-1/2")

4448

CUSTOMER UPC1
CLASS SUB

PART NO.

81 01

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

20"
(REF)

6 3/4"
(REF)

1 7/8"
(REF)

TOTAL WT. # 13.45

REV DESCRIPTION OF REVISIONS CPD BY DATE
REVISION HISTORY

A REDRAWN IN INV, UPDATED VIEWS & TABLE  KC8 8/20/2012

2

3

4

5

1

X4

X4

X4

1-1/4" TO 4-1/2" DIA
ANTENNA MOUNTING PIPE

OR 1-1/2" TO 3" ANGLE
(ORDERED SEPARATELY)

1-1/4" TO 4-1/2" DIA 
TOWER LEG
OR 1-1/2" TO 3" ANGLE
(REF)


